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THE GAUHATI HIGH COURT AT GUWAHATI

{The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)

QUESTION PAPER BOOKLET

For Direct Recruitment of Computer Operator for the Judicial Academy, Assam
Date: 16-09-2018 (Sunday) Time: 10:00 AM to 12.00 Noon

Duration : Two hours. Marks: 120

Number of Pages in this Booklet: 11

Number of Questions in this Booklet: 120
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INSTR ONS:

After receiving the Question Paper Booklet, candidates are to carefilly examine the booklet znd tally the number of pages
and number of questions in the Bookiet with the information printed above and if any discrepancy is found she/he should
get it replaced inmediately by a correct Booklet from the Invigilator within five minutes,

This paper consists of one hundred twenly (120) multivle-choice type questions and each question carries one mark. There
wilf be no negative marking.

Candidates have to returm the OMR Sheet to the invigilator before leaving the Examination Hall/Room. However, they are
aflowed! to carry the question paper on conciusion of the Examination.

Candidates must observe cornplete sifence and shall not copy from other candidates or alfow histher own paper to be
copied,

Candidates found violsting the above meniioned rules will be liable for expulsion from the Examination Hall/Room and
disqualification fiom the Examination or any other punishment as deem At by the authorily.

Indicate the Question Paper Booklet Set by completely darkening the appropriate option in the OMR sheet as well as by
writing in the space provided.

Choose the correct spelling amongst the given options :-

1,

2.

11.

12,

13,

A Advercity B  Adversity C Advercyti D Advercitee

A Agglomeration B  Aglomeration C Agglomaration D Aglomeretion
A Emplyoees B Employies € Employees D Employiece
A Defiasance B Defeacanse C Defeasance D Defesance

A Chuavinist B Chauviniest C Chauvinist D Chauvenist
A Entrepreneur B Entreupraneur C Entepreneur D Entrepreuner
A Trecherous B Treacherous C Treachearous D Treacharous
A Pproprietership B proprietorship € Propritorship D Propreitorship
A Resescion B  Rececion c Recession D Resession

A Bouqueie B Bouquet C Bougeuet D Bouque
What is the antonym of “TACITURN" ?

A Virtuous B Talkative C Sifent D Unfortunate
What is the antonym of “"GLOOMY"” ?

A Fast B Cloudy C Bright D Genial

What is the antonym of “QUERULQUS” ?
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A Contended B Complaining C Disagreement D Extreme

14. What is the antonym of “EVASIVE™?
A Escapist B Elusive C Direct D Vague

15. What is the antonym of "Refugee”?
A Oceupant B Escapee C Emigrant D Destitute

Choose one word substitute (Question No. 16 to 20)
16. A person who does not believe in the existence of the God-
A Atheist B Believer C Fanatic D Conservative

17. A person who cannot be easily Pleased-
A Superstitious B Fastidious C Cosmopolitan D Gullible

18. A person who is indifferent to the pains and pleasures of life-
A Stoic B Sadist c Luxurious D Erudite

19. A person who has good taste for Food-
A Greedy B Stoic C Gourmet D Covetous

20. A group of stars-
A~ Solar system B Constellation C Orbit D Trajectory

21. What is the synonym of "QUERULOUS” ?
A Persuasive B Argumentative Cc Explosive D Inclusive

22. What is the synonym of "MASSIVE” ?
A Small B Enormous C Indefinite b Insignificant

23. What is the synonym of “FIDELITY" ?
A Swindling B Liability c Hoaxing D Loyalty

24. What is the synonym of “CATER” ?
A Determine B  Finish C Exhaust D Provide

25. What is the synonym of “"SYNOPSIS” ?

A Catalogue B Summary C Index D Directory
Fill up the blanks would most appropriate word in following questions (Q.Nos 26 to 30)
26. Catching the earlier train will give us the ................. to do some shopping.
A Chance B Luck C Possibility D Option
27. The apples are NOW .......oe........ enough to be picked.
A Mature B Ripe C Old D Ready
2B, s of the old paintings is a job of expert.
A Restoration B THustration Cc Selection D Resurrection

29. Thatesitting ........c.oveoveene ., him as he always smells foul.



31.

32.

33.

34.

35.

36.

37.

38.

39,

40.

41.

42.

43.

44.

45.

A Besides B Beside C By side D
| £ SO that Xiang will not be selected for the post
A Found B Looks C Belief D

Who is the author of “The Inheritance of Loss™?

A V.S. Naipaul B SalmanRusdie C Arundhati Roy D

Who is the captain of Indian National Football Team?

A Sunil Chettri B Virat Kohli c ILM. Vijayan D

Who won the gold medal in a Asian Games women 400 m final race.
A Nirmala Seoran B Elina Mikhina C Hima Das b

On which date the present Chief Justice of India will retire on superannuation?
A 2%October 2018 B 3 October2018 C 1 October 2018 D

Who was the present Chief Justice(Acting) of the Gauhati High Court ?
A Justice A.K. B Justice H.Roy C Justice U. Bhuyan D
Goswami

What is the percentage of women pariiamentarians in the current Loksabha?
A 11% B 30% C 20% D

Which one of following is easily digestible source of Protein?

A Mutton B Soyabean C Red Meat D
Bile is secreted by ..................

A Liver B  Pituitary Gland c Gali bladder D
Where is Dhekiakhowa Namghar situated?

A Nalbari B Jorhat C Sivasagar D
Who is the present Law Minister of Assam?

A Ranjit Dutta B Chandra Mohan C Sidhartha D

Patowary Bhattacharya

We is the editor of the Assam Tribune?

A Sri D.N.Bezbarah B  Sri P.G.Baruah C S T.G.Baruah D

Who is the Speaker of Present loksabha ?
A Smt. Sumitra B Smt. Nirmala C
Mahajan Sitharaman

Smt. Meenakshi D
Lekhi

Who is the Speaker of the current Assam legistative assembly
A Sri Parimal B Sri Prafulla C SriRanjit Dutta D
Suklabaidya Mahanta

Who invented Computer mouse?

A Bill Gates B Steve Jobs C Douglous D
Engeibart

What is the capital of Malaysia?

A.  Kuala lumpur B. Bangkok C.  Jakarta D.
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Along

Seems

Kiran Desai

Baichung Bhutia

Saiwa Eid Naser

4" October 2018

Justice M. Bhuyan

50%

Egg Albumin

Spleen

Guwahati

Himanta Biswa
Sarma

Sri Jayanta Baruah

Smt. Smriti Irani

Sri Hitendra Nath
Goswami

T.A. Edison

Rangoon



46,

47.

48.

49,

50.
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Who is the current President of Pakistan ?

A, Arif Alvi B. Imran Khan C. JiaulHag D.  Shah Mehmood
Qurshi

Bugatti Veyron is a......cccccovveenen,

A.  Motor bike B. Sports car C.  Aircraft D.  Space craft

At what age Barack Obama retired as President of United States of America?
A. 60 years B. 55 years C. 52 years D. 70 vyears

At what age Donald Trump became the President of United States of America?
A.  S5years B. 60 years C. 70 years D.  65vyears

What is the current age of the Prime Minister of India Sri Narendra Modi ?
A. 65 years B. 67 years C. 60 years D. 62 years

There is a certain reiation between words on both sides of the colon. Choose the most suitable
word to be put with the given word from the options given in Question No. 51 to 55.

51.

52.

53.

54.

55.

56.

57.

58.

59,

GO.

61.

62,

Arguing: Litigation::Exercising: ..............

A Running B Muscles C Health D Walking
White: Peace::Red: ........

A Viclence B  Rose C Cleanliness ¥ Close

Train : Station ::Aircraft o................

A Airport B Pilot C Wings D Runway
Cricket : Wickets ::Footbali:..........

A Shoes B Goals c Referee D Players
Cough: Chest :: Ache :...........

A Leg B Stomach C Head D Tongue
James is heavier than Nathan, but lighter than Robert. Kim is heavier than Robert. Mohan is lighter than
Nathan. Who among them is the heaviest?

A. Kim B. James C.  Robert D.  Nathan
Introducing a man to her husband, a woman said, “his brother's father is the only son of my
grandfather.” How the woman is related to this man?

A.  Mother B. Sister C.  Aunt D.  Daughter
Marry is Daughter of my mother’s brother Paul. Margaret is the granddaughter of my mother. Margaret
should call Marry as........

A Niece B. Cousin C.  Sister D.  Maternal Aunt
Find odd man out amongst the options.

A, Duck B. Frog C.  Crocodile D.  Chicken

Find odd man out amongst the options.

A, Cap B. Veil C.  Turban D, Hat

Find odd man out amongst the options.

A Curd B  Butter C Oil D Milk

Find odd man out amongst the options.



Page 5 of 11

A Murder B Kidnap C Killing D Assasinate

63. Find odd man out amongst the options.
A Doe B  Bitch C Drone D Mare

64. Find odd man out amongst the options.
A Delhi B Mumbai C Guwahat] D Itanagar

65. Find odd man out amongst the options.
A Tomato B Cucumber c Brinjal D Carrot

66. Nathan's salary was reduced by 10% and then the reduced salary was increased by 10%. What was his
ultimate loss?
A 0% B 1% C 2% D 5%

67. Ina country 55% population is female. 80% of the male population is literate. How much of females are
literate if total literacy is 58%?
A 40% B 30% C 45% D 35%

68. 5% of 5% of Rs, 100 is
A Rs. 1.25 B Rs 025 C Rs. 0.50 D Rs. 0.05

69. What per cent is 42kg of 336 kg?
A 12.5% B 10.5% C 12% D 12.75%

70. Income of A is 25% more than the income of B. What is the income of B in terms of income of A?
A 70% B 80% C 60% b 60% '

COMPUTER SECTION

71.  ‘Internet Safety relates to

A. only those who buy products online
B. oniy those who do their banking online
C. only those who sign up for chat rooms
D. everyone who uses a computer that can connect to the internet

72. is a set of hardware and software standards that allows expansion boards

and cother devices to install themselves
A. Plug and play B. System Unit

C. Unicode D. Industry Standard Architecture

73.  Which of the following is not a type of hardware?

A, An mp3 file B. A keyboard



74,

75,

76.

77.

78.

79.

80.
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C. A monitor D. A mouse

A program that enables you to perform calculations involving rows and columns of

numbers is called a —

A. Word processors B. Spreadsheet program
C. Graphics packages D. Window
A computer works on a ............ number system
A. decimal B. Hexadecimal
C. binary D. Octal

A device that provides emergency power to your computer and protects from power surges is called —

A. PSU (Power Supply Unit} B. USP {Universal surge Protector)
C. UPS {Uninterruptible Power Supply) D. UPPS {Universal Power Protector
and Supply}

If you are going to a site you use often, instead of having to type in the address every
time, you should-
A. Save it as afile B. Make a copy of it
C. Bookmark it D. Delete it
When the computer you are using does not print, what is the likely reason?
A. The printer is not plugged in to either the power or to your computer
B. You have not selected the correct printer from the list.
C. There is a printer jam or the printer needs some other attention
D. All of the above

A directory within a directory is called-

A. Root directory B, Mini directory
C. Part directory D. Sub directory
WWW stands for

A. World Work Web B. Wide Work Web



81.

82l

83.

84.

85.

86.

87,

88.

89,
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C. Wide Worfd Web D. World Wide Web
Value of Gigabyte (GB) in bytes.
A.1024%1024%1024 B. 2048
C. 4096 D. 8192
What can be done with MS-Excel?
A. Do mathematical calculation B. Create tables.
C. Create Charts. D. All of the above
What is the Shortcut used to undo changes in a document?
A. Cerl+Y B. Ctri+X
C. CtrieV D. Ctri+Z

14. What is the no. of layers in OSI?
A5 B.7

C.9 D.3

Which network medium carries light-based data through strands of glass or plastic no
thicker than a human hair?
A. coaxial cable B. Twisted pair

C. Fibre Optic D. Wireless

Full Form of SMPS?

A. Switching Modulated Power Supply B. Switched Mode Power Supply

C. Simultaneous Mode Power Supply D. Supplied Motor Power Supply
17. Which of these is/are type of RAM?

A.SD B. DDR4

C. DDR2 D. All of the Abave.

Which of these is a commonly used Search Engine?
A. Orkut B. Facebook
C. Google D. Twitter,
Which of the following is the ascending order of data hierarchy?
A. bit - byte - record - field - data base - file

B. bit - byte - field - record - file - database



90.

91.

92.

93.

o4,

95.

96.

97.
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C. bit - byte - file - field - record - database

D. bit - record - byte - field - file — database

Ubuntu is a?
A. Word processing software B. A presentation software
C. An operating system D. None of the above

Which network medium is composed of four pairs of wires, where the pairs are twisted
together and bundled within a covering?

A. Coaxial B. Unshielded Twisted Pair
C. fibre optic D. Wireless
For Cloud computing essential requirement is
A. Servers for the user B. Application software
C. Internet D. None of the above
What type of address would be burned-in to the Network Interface Card of a personal
Computer?
A. Frame address B. Packet address
C. Network layer address D. MAC address

What is the major difference between Ethernet and Gigabit Ethernet?

A. Gigabit Ethernet runs at 1000 Mbps.  B. Gigabit Ethernet runs at 100 Mbps.

C. Gigabit Ethernet is always full-duplex.  D. Gigabit Ethernet doesn't use CSMA/CD.
One advantage of the dot matrix printer over the laser printer is:

A. dot matrix printer produces high quality output B. dot matrix printer prints
more pages per minute

C. dot matrix printer can print carbon copies D. dot matrix printer is portable

This wireless standard is widely used to connect computers to each other and to the

internet.

A. 802.11b/g B. RM5

C. Blue band D. Broadband
Storing a separate copy of the database at multiple locations is which of the
following?

A. Data Replication B.Horizontal Partitioning

C. Vertical Partitioning D.Horizontal and Vertical Partitioning



98.

99,

100.

104,

102,

103.
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Which of the following network topologies among the list below is incorrect?

AStar

C.Ring

B. Internet

D. Bus

Three (3) basic devices are used in setting up a single Network. Which of the following

hest describes these devices?

A, NIC(Ethernet Card), Switch, Twisted pair/Coaxial cable
B. Disk drive, CPU, Switch
C. Hub, CPU, NIC(Ethernet)
D. Disk drive, Hub, NIC{Ethernet)
Following two are Linux commands
A. hard, soft B. who, jill
B. chimod, kiil C. jump,is
Assamese Section
Tarar s 5 3 ot g e
A. 7o B, fomr
C.a% D. «bre 7zm
& Tara f 1% o [ 3 vt @ e
A. At B. wResfr férm
C. it f&mm D. sz fammt
OO (TGB! AHI ol wwm ¢
A. TwR =8 + 77 B. Wor% = fag + o
C. Btoiiam = oz + 4 D. sif¥em = +IfR + wiem
ST (PTG PR el g T Tar -

104.

105,

106.

107.

A. STAME 9 = g

C. 1& (fef) wer sz = fawen

B. et wmt 7 (o€ = Mot @)
D. & +i3 313 = wigy

WWWW%WWW@@WWW@?

A. FE)
C.318

SFE (P (TR R Trote = et W (g

A. A7 = W5y

C.3fs =ygfe
TE g 25 TS == LG

B. %R
D. gbte wg w=y

B. =¥ = v
D. 5 = s



108.

109.

110,

iii.

112,

1i3.

114,

115,

116.

A. RE

C.q&

o) (UG e afeeisraiT oS e e
A. GI9 = 3EY, S, *0A

C. wffl = yg, 3%, s

IR (W] N T S elfw wxy e
A, @EeR

C. sl

> S TS 1T ITHOR 9 7 2
A. BREA T

C. wigw 9%

S (PHICDT IR O .
A. w051 $U F6rs WA oAt 941

C. ¥5 351 fors M it i@
XIS BT 7 WR [$ 2

A. ST TSR 9

C. s 7y 99

5t Wae eiehd 4T (Q.Nos-112 to 114)
g ez ofF =t < osts dw) g ofR

A. o
C.
s el -y tEm
A.TH
C. o8

4 T 3
A ey

C. aisa
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B. 73fs
D. @bhe oy oy

B. =) = =), faumm, s

D. 7 = faam, 7f%, ==t

B. uf#
D. #few

B. @i off R+ive #/
D. =% sy

B. 5 4t [S0@ I AMWEs SiE
D. =f5iErzen va

B. 3831

D. «bre 9% w5y

B. % 5185
D. able wg 957

B. &
D. 4ot wg g

o4 FF A @EHAd S $99(Q.Nos-115 & 116)

A, =ifey

C. 5t

B. @=

D. &5e um ATy
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117. SMIEe 8@e .. .. .. (36

A. 59 B. 5=

C.w D. abts waagn
118. U9 *RACGIT ©F el (PED! ¢
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C. a9 D. RER
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